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3580 FLIFTHT 5 8 4 5 11 7 8 10 10 6
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THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

3590 JEMT 0 1 0 0 0 0 0 0 0 0
9999 S HKXE 66 71 47 63 56 74 77 77 76 79
4010 41| RET 3 3 2 7 4 6 5 4 4 2
4020 {E&HT 1 0 0 0 2 0 2 0 1 2
4030 5HT 2 5 4 3 3 5 3 5 6 0
4040 = HEAHT 1 4 3 3 0 0 7 3 5 3
4050 7K EHT 8 8 6 3 7 5 5 14 7 6
4060 E5Z HAT 2 1 3 3 3 1 7 3 5 3
4070 JtJRHET 3 4 1 2 7 6 1 1 2 1
4080 =;T;HAMT 4 2 2 3 3 7 5 3 5 2
4090 S5 ERHT 8 2 8 5 2 6 3 4 6 8
4100 g FEFOET 0 3 3 4 2 7 5 5 5 2
4110 JtFFOET 2 6 3 4 5 4 5 4 4 2
9999 2RI X st 34 38 35 37 38 47 48 46 50 31
4510 EREE—ZEHT 7 18 12 13 9 13 11 14 17 10
4520 EREE — AT 1 2 1 4 2 5 2 3 3 5
4530 EREE=ZEHT 8 3 2 4 5 0 1 1 3 4
4540 B} EErUZEET 1 2 1 4 3 2 1 4 1 4
4550 EREE FFHT 3 1 0 2 0 1 3 0 1 3
4560 EREENEEHET 2 2 1 3 0 2 0 2 1 0
4570 EREE-HZFHET 2 1 1 0 3 3 0 1 1 2
4580 ERZE/)\ZHEHT 0 0 1 3 2 1 2 3 1 1
4590 EREE N FEHT 2 0 3 1 1 2 3 3 1 2
4600 EREE-+ZEHET 2 1 4 0 0 0 3 2 2 2
4610 EREE+—ZHT 3 3 1 1 0 1 6 1 2 3
4620 B+ —FET 1 2 5 4 0 2 2 5 5 4
9999 ERERXET 32 35 32 39 25 32 34 39 38 40
5010 BRF0H £ HT 4 1 4 2 1 1 1 2 3 9
5020 FAFNBAELET 1 4 1 1 1 0 5 3 3 1
5030 FRFNREI{—HT 4 0 4 2 1 1 3 3 3 2
9999 AFIAXET 9 5 9 5 3 2 9 8 9 12
5510 b RHET 5 0 3 4 6 4 5 4 4 7
5520 = AT 4 6 11 10 6 9 10 14 5 5
5530 75 = /T 8 4 8 8 10 4 9 4 5 11
5540 THEHRT 2 3 3 7 2 1 7 3 7 10
5550 EEHET 2 0 3 0 1 1 0 0 0 0
9999 =R X 5t 21 13 28 29 25 19 31 25 21 33
6010 [EIHAT/MER 4 0 1 2 0 0 1 3 3 2
6020 [z ET = 3 3 4 1 1 1 1 1 4 3
6030 [EET A I 1 3 2 0 3 3 2 2 5 2
6040 EAZEIFHT 1 6 4 4 5 4 5 4 5 7
6050 JI|ABTE 3 3 1 3 5 2 4 2 2 4
6060 JI|EHETF 0 1 2 2 3 2 2 4 4 5
9999 FEEMRXET 12 16 14 12 17 12 15 16 23 23
6510 H X A#EAHT 0 0 1 0 1 2 0 1 0 1
6520 HZEAKIEHET 3 1 3 4 2 6 2 6 3 7
6530 B E AFTHHET 2 0 1 3 4 1 3 4 7 3
6540 HZEALLTHET 0 0 1 2 1 2 3 8 2 4
6550 B E A Z NET 2 3 0 3 1 1 0 6 1 2
6560 HRAIEILHET 0 3 0 2 0 1 3 1 1 3
6570 B EALERIHET 4 4 0 1 2 1 4 2 3 2
6580 H&EAEHT 0 1 2 1 1 1 0 3 6 1
6590 HZ= ATHET 0 1 1 0 1 0 0 0 1 0
6600 B &= AT 1 0 1 0 1 3 4 2 0 2
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

1250 TEEMT 0 0 2 3 6 3 0 0 2 2
1260 B & 0 0 1 3 0 0 2 1 1 0
1270 EEHT 2 0 3 3 1 1 0 0 1 1
1280 FRAHET 5 0 2 2 3 1 2 1 1 1
1290 $RHET 2 3 2 8 1 2 1 3 6 2
1300 & EEHT 0 6 1 4 4 0 1 4 1 2
1310 RJLHET 1 1 0 1 3 1 0 1 4 1
9999 K HEMRXET 113 113 130 141 120 109 69 75 100 109
1510 A& _E BT 5 16 12 8 12 13 7 8 13 10
1520 HEHTHET 7 21 19 13 16 9 10 15 13 12
1530 }EHTHT 5 5 3 5 8 9 2 4 5 5
1540 K4EFHT 16 10 7 12 7 14 3 10 6 6
9999 FEMNA: X 5 33 52 41 38 43 45 22 37 37 33
2010 EE AT 1 5 3 7 6 1 0 1 3 3
2020 % E gl 0 1 3 2 4 4 2 2 5 2
2030 E0HT 0 0 2 2 0 1 0 0 0 0
2040 ;ET—T H 4 2 3 4 8 2 4 2 2 0
2050 BT =T B 1 2 5 4 4 3 4 4 6 4
2060 ¥g AT 0 0 1 2 1 0 0 0 0 2
2070 FxEBT—TH 5 8 5 2 5 1 2 0 5 2
2080 FRET—TH 3 3 2 6 7 4 3 4 3 2
2090 THiRAT 40 22 48 27 36 34 12 24 43 23
2100 fhdLHT 0 3 3 8 4 3 0 1 1 3
2110 }EWIETET—T B 4 6 3 8 2 3 3 2 3 4
2120 HEMIFTETZT B 5 9 5 3 4 10 2 3 3 3
9999 £ ERXET 63 61 83 75 81 66 32 43 74 48
2510 FAMEET 28 32 36 33 44 27 22 25 32 22
2520 sk EeHT 22 19 25 23 14 11 12 9 9 13
2530 = /INRHET 4 5 9 4 9 3 4 2 1 3
2540 FHi5HT 16 8 12 13 11 15 4 10 7 10
2550 ;HHET 2 6 1 5 3 2 4 3 7 3
2560 = SHT 16 20 20 24 9 23 12 14 10 13
2570 K EHT 4 1 1 6 2 2 0 0 2 1
9999 ME R X ET 92 91 104 108 92 83 58 63 68 65
3010 KATHT 21 14 18 22 17 16 13 11 7 12
3020 ;BT HT 19 12 20 14 21 23 8 7 8 11
3030 L EFHT 17 10 7 13 16 12 5 10 8 11
3040 &S _LHET 2 0 0 1 4 3 1 3 2 4
3050 R AT 29 32 32 39 29 28 14 21 20 23
3060 BN THET 5 10 13 10 7 9 6 5 11 13
3070 HEAEAT 7 9 12 6 8 6 5 12 10 4
3080 H hHT 4 8 4 10 7 5 3 2 2 4
3090 EHRERHAT 1 8 5 7 4 4 3 3 6 7
3100 EH R FEHET 4 6 6 4 4 3 6 4 3 5
3110 EHeRILHET 10 11 8 11 9 8 3 9 4 12
9999 /\FHERXET 119 120 125 137 126 117 67 87 81 106
3510 27 _FHT 4 3 3 4 3 7 0 2 5 3
3520 £ R chfT 1 4 7 8 9 3 7 5 8 4
3530 &R THT 18 22 10 18 18 10 9 11 12 9
3540 =B KHT 5 13 7 9 5 8 7 1 4 7
3550 AEFHT 20 7 17 13 23 11 10 5 12 12
3560 = T B HET 4 6 6 6 5 5 5 3 2 5
3570 = T AT 9 17 23 24 13 11 14 12 11 14
3580 FLIFTHT 8 18 11 12 12 4 5 6 3 6
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

9210 $EHET = H 3 4 10 8 4 5 3 6 8 1
9220 SxETHH 6 8 12 7 12 9 3 4 5 17
9230 $EHTE M 16 9 13 14 12 12 4 9 9 7
9240 $EHETIEE 4 2 7 5 3 3 4 3 3 4
9250 % HT At #r b 11 7 6 7 9 4 2 2 4 4
9999 S XET 127 118 132 142 130 116 66 97 103 104
9310 E[FHET:AR 4 5 2 4 4 3 1 3 2 5
9320 H[SHETIL 4 4 9 4 5 7 2 1 5 1
9330 FH[SAT/INE 5 4 2 2 1 1 4 5 2 3
9340 R [ZHTR 6 9 7 4 8 6 3 6 5 6
9999 R[GHXET 19 22 20 14 18 17 10 15 14 15
9410 RET T & 11 3 8 10 10 7 2 3 10 1
9420 RHETHHE 7 2 6 5 5 2 5 7 12 5
9430 RETFER 2 3 2 8 1 3 3 2 4 5
9440 RETAEF 0 0 0 0 1 0 0 0 0 1
9450 RHETHER 1 0 0 0 1 0 0 1 0 0
9460 RET{—_HE 0 0 0 3 0 1 1 0 0 1
9470 RETEXR 1 0 0 0 0 0 0 0 0 0
9480 RHETHER 0 3 2 2 2 1 2 0 0 1
9999 RIXXEt 22 11 18 28 20 14 13 13 26 14

99999 H&EEt 1032 1090 1138 1209 1110 994
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140 E[EHET
150 1 FFrHET
9999 KER X &t 5
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
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570 EEHT
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590 FriEMT
600 EiRAT 1
610 FHT
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